Expand Shrink Algorithm
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(POLYGON 22

_ (DL 22 20 -40.4 22.1172 -40.42 22.1172 0 0 0 0

# Expand(Shrink) 2 & HE (DL 22 20 -40.42 22.1172 -40.4244 22.1164 0
(DL 22 20 -40.4244 22.1164 -40.9365 22.0716

- Of2ff =2 Polygon LIF Line 2= NE|E HE (DL 22 20 -40.9365 22.0716 -40.9409 22.0716
(DL 22 20 -40.9409 22.0716 -40.9606 22.0682
(DL 22 20 -40.9606 22.0682 —40.9648 22.0666
(DL 22 20 -40.9648 22.0666 -41.4614 21.9336
(DL 22 20 -41.4614 21.9336 -41.4657 21.9328
(DL 22 20 -41.4657 21.9328 —41.4845 21.926 0 0
(DL 22 20 -41.4845 21.926 —-41.4884 21.9237 0 0 0
~41.9543 21.7065 0 0
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15t Object Start

-40.399999999999999 22.015600500000001
15t Object End

-40.420000000000002 22.015600500000001

2nd Object Start

-40.401825328921554 22.017239309068813
2nd Object End

-40.406225328921550 22.016439309068812
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15t Object Start

-40.399999999999999 22.015600500000001
1st Object End

-40.420000000000002 22.015600500000001

2nd Object Start

-40.401825328921554 22.017239309068813
2nd Object End

-40.406225328921550 22.016439309068812

Cross Point
-40.406225328921550 22.015600500000001




# Expand(Shrink) 7|2 7H'&

- Expand(Shrink) HI5kO 2 R(Turret Width Or2 0| &
- 0|5 =l XHHEE Start, End PointZ2 Z+= Object 4 d(7|E Objectlt &L Type, Turret Size = 0)
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# Expand(Shrink) 7|2 7H'&

- Object & Zt# O|F A1rE S5 80| EX5t= 8%
HEE 7IELE ObJectOI Start, End Point H A X2
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- Object & Zt# O|F A1rE S5 80| EX5t= 8%
HEE 7IELE ObJectOI Start, End Point H A X2
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